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20 1 9(Odd) Old Syllabus

3rerar
) Time : 3Hrs. Sem.- I/Il Gen
HTATAT AT BT TP UTHU AR BN | LCS (Eng+Hindi)
7. 9 —qET IR U9 faglia ¥ F4r s 27 Full Marks : 30
Pass Marks : 26
aoxar There are two parts in the question

PART-I(ENGLISH) & PART-II(HINDI)
g3 H Tl @vs—/ (U vd @vs—// (fF=dh)
Answer 10 Question from Part-I and 10 Question from

fr=feRaa & @ fodfl v ux fewofi ford |

(i) dravSTeT Part-11 of Group-A, each question carries 1 mark
(i) ufades Tu-A & @vs—I ¥ 10 Ta1 @us—II 4 79 9Tl
(i) - D I <, UAD YT BT A 1 3P 2 |

Answer 4 question from Part-I and 4 Questions from
Part-11, of Group-B, each question carries 2,5 mark.

ook YU-—B & @S — ¥ 4 dAT @vs —11 4 4 9

® SAN S, UAD YT DI 914 2.5 3D 2 |

Answer 2 Question from Part-1 and 2 Questions from
Part-11 of Group-C each question carries 10 mark.

Ju—C & @vs—] ¥ 2 a1 @vs —I1 9 2 yeAl
® SR ?, YAD Y BT A 10 3D B |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP U3 & Gl I $T SR UH &) o8 (AITaR $HH H)
BT A1fRY, Sy @ wifd e o Wahd ® |

The figure in right hand margin indicate marks.
T urd @ 3i® QUiie & qad @ |

P.T.O
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I gl @ SR | 2%x4=10
5.

PART - I
GROUP -B

R ey ey & eF 9 U 3R Ry g

Yol & SN o— 2.5

Agfie A9 & GOR # 79 g1 fafia
IUTEl BT 99T Hecd o | 399 IA<ARA B
eI H werdr fadt @ o afear |
T ® gATT R 9Ra fHar 21 A Suus
godl 3R TR Wivdsd @ IR A fera
SR 9 FErar #) W@ 2| SuUE
de-ie © a7 ¥ faer™ 9 IR Sflad &1
WHY YER AT 2 | SUYE AAR A Pl W
ARl 9 9 @ |, #d @ Afasgarfy
3 H, " gRadql )R ToR @9 7 SR
AU B <IE a9 A AR WE—® 2 | 3T
9T YA Afdd SUTE db-ild BT SYINT
HRAl 2 | HfSe B8 A A HA AT
Yodlo@Ho &I IUAIT &3+ H yfafes Suuz
qd-Id &1 B AT BT 2 | 39 SR IUUE
AT & AFd d oitaq § 3rfrard 1 991 ¢
2
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(iv)

V)

(vi)

(vii)

3 01105/02205/P01105

The sentence with a correct preposition is:

(a) The five jumped to the well

(b) She could not attend practical classes because
off her serious illness

(c) My father is all in all in my family

(d) None of these

Which one of the following does not form
part of a letter:

(a) Date

(b) Sender’s address

(c) Salutation

(d) Soul

The extra unit of helping verb to be used for
transforming on active sentence (in perfect
tense) Into passive one is:

(a) Been

(b) Being

(c) Be

(d) All of these

Earnest money is:

(a) The sum amounting to 2% to 5% of the
total estimatel cost

(b) The sum refundable to all these renderers
whose tender proposals are not accepted

(c) Both (a) and (b)

(d) None of these

P.T.O
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159eS (P)
Ajoyes (o)
K1oyes (q)
kel B s (») InoiAeg (e)
(1) ‘ST 9JeS, pIoM dU} JO WO UNON YL,  (x)
Eh pleipie (b) 953y} Jo duoN (p)
JLE\L\‘@R (]:9) 1ISON (3)
—g 2@ 2-8°3 IblIo 1kp) Q101N (q)
DIgJlh b kEh Mblhh ¢ Uelbbh ki) (xX) yonp (e)

:S1 92139p oAneIedwOod Ul AP AL,  (x1)

|k 5le B b DbEhe (2)

M RIE Bl @ Eh (B) (q) Jou () JoypIoN (P)
B (9) pue (&) yog (9)
R2h @ @lih () 0+A+S ()

R2h R bRIBR (k) (950 9AN03[qO 3y )

—¢ IPlin IRRJ IPh P S + uomsodarg+ A+AH+O (8)
bh ‘hik 1 (PRI b kh RlddRBle (XIX) :ST QOUDJUAS QAIOR UB JO 2INIONNS JISeq YL (1m1a)
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(xv)

(xvi)

(xvii)

(xviii)

I ek BT faels FaT1 28—
(31 freaa

(@) gfifRaa

(W) wds

(2) gg—~1dr

‘fier’ o 8-
(31) acaH

(§) dagHa

(|) <o

(2) fagew

fr=iferRaa 9 9 &9 sraterfl ey
T2 2

(@) e u=x

(@) st M

(|) ¥R u3

IEICERRE]

RGN g=AT B AT B 2
(31) itTaiR®

(@) stuaIR®

(¥) Poi}

(?) Sudaa A @ HIg 1A

O0T12005 5
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PART -1
GROUP -B

1

Answer all four Questions. 2—x4=10

2.

2
Read the following passage carefully and then

answer the questions that follow:

Although the SLV-3 rocket did not itself launch a
satellite, its success was undoubtedly a significant
achievement. For two years later, the first Indian
multipurpose satellite was launched by an American
Delta-3910 rocket, from cape canaveral (INSAT-IA
is parked in geostatonary orbit about 36,000 km
above the equator at 74 degrees east). Thus India now
has the technology both to build satellites and to
launch them. But INSAT-IA weighs over 500 kg.
and so the next task for the VSSC is to build more
powerful rockets that will be capable of launching
such satellites into space.

(1) When and where was the first Indian national
(multipurpose) satellite launched?
(i1) Point out the demerits of SLV-3 and INSAT-TIA?
(111) What is the next task for India to do in space
technology?
(iv) Suggest a suitable for little the given passage .
Also justify it.
P.T.O
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